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QUESTION 1

Which two statements describe primary differences between MPLS Layer 2 and Layer 3 VPNs? (Choose two.) 

A. Layer 2 VPNs use IPsec tunneling, but Layer 3 VPNs use L2TPv3 tunneling. 

B. Layer 2 VPNs use AToM, but Layer 3 VPNs use MPLS/BGP. 

C. Layer 2 VPNs use BGP, but Layer 3 VPNs use VPLS. 

D. Layer 2 VPNs use L2TPv3 tunneling, but Layer 3 VPNs use GRE tunneling. 

E. Layer 2 VPNs use IPsec tunneling, but Layer 3 VPNs use pseudowires to provide tunneling. 

Correct Answer: BD 

 

QUESTION 2

Refer to the exhibit. If the two devices are operating normally, which two conclusions can you draw from this
configuration? (Choose two.) 

A. CE1 must use OSPF to establish a neighbor relationship with PE1. 

B. PE1 labels the routes it learns from CE1 with the route-target 222:2 and shares them with its VPNv4 peers. 

C. PE1 labels the routes it learns from CE1 with the route-target 111:1 and shares them with its VPNv4 peers. 

D. The PE-CE routes between the devices are being exchanged by OSPF 

E. CE1 is supporting CSC. 

Correct Answer: AD 
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QUESTION 3

What is the primary function of a VRF on a router? 

A. It enables the router to support multiple separate routing tables, which allows the device to handle overlapping IP
addresses. 

B. It enables a router to run BGP and a distance vector routing protocol at the same time, which allows it to serve as a
VPN endpoint between remote sites. 

C. It enables a router to configure VLANs locally, which provides segregation between networks. 

D. It enables the router to provide faster switching through the network by using labels to identify the input and output
interfaces for neighbor routers. 

Correct Answer: A 

 

QUESTION 4

An ISP provides a major client MPLS VPN for managed services. The MPLS engineering team needs to use the
advanced VPN feature of selective VRF import so that only specific prefixes are present in the required VPNs. Which
aspect of this feature must the team consider? 

A. A route must pass the import route map first and then the route target import filter. 

B. The routers that are imported in the VRF can be BGP and IGP routes, so other match conditions in the route map,
besides communities, can be used. 

C. The import-map command is applied under the PE interface that connects to the CE router. 

D. A route is imported into the VRF only when at least one RT that is attached to the route matches one RT that is
configured in the VRF and the route is permitted by the import route map. 

Correct Answer: D 

Reference: https://www.ccexpert.us/mpls/configuring-selective-vrf-import.html 

 

QUESTION 5
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Refer to the exhibit. A network operator is implementing EVPN IRB on PE1. Which two command placements enable
the advertisement of Type 2 routes and what information do Type 2 routes contain? (Choose two.) 

A. The operator adds in "host-routing" under the VRF EVPN. 

B. Type 2 routes contain MAC/IP information. 

C. Type 2 routes contain Ethernet Auto-Discovery information. 

D. The operator adds in "host-routing" under the BVI651 interface. 

E. Type 2 routes contain inclusive source-specific multicast route information. 

Correct Answer: BD 

Reference: https://www.cisco.com/c/en/us/td/docs/iosxr/ncs5500/vpn/61x/b-ncs5500-l2vpn-configuration-guide-61x/b-
ncs5500-l2vpn-configuration-guide-61x_chapter_01010.html 
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